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B.Com.V Semester Degree Examination, April/May - 2024
COMMERCE
SEC-4 : Employability Skills
(NEP)

Time : 2 Hours Maximum Marks : 50

Note : (i) The question paper contains §0 questions.
(ii) All questions are compulsory.
(iii) Each question carries one mark.
(iv) Each question is provided with four options.
(v)  Please note that in case of any confusion, the English version of the question
paper is final.

Instructions to the candidates
@2.,35@?71@7? BRWIN

1. The question paper will be given in the form of a question booklet.
@330@\_%)%03353% TrECH TRITY BRTORNITT.

2. Immediately after the commencement of the examination, the candidate should
check the question booklet supplied to him/her contains all the 50 questions in

serial order.
wbei TT0LWOT TOET, @aja@i-‘ofm 331 T DIBT @%@3@65&% LOdeDFZe3eD,
e

BB F0ATY 50 FFNYI, TS CRTTYRYTR, 0BOTRBAERYBZTR,

Yo

3. The question booklet does not have unprinted or torn or missing pages and if so,
he/she should bring it to the notice of the invigilator and get it replaced by a
complete Booklet. This is most important.
agéo{ab?i%ojw FOOR SROTD/BOLIR/AYTE TR mme;ag TROOLPO, NG é)méésrﬁ%b
3RTHR i)&@@?ﬁmdﬁd ﬁmﬁﬁé BT ToNP @%&"D&%Oﬁb@ol wd@%%m@%zé)m (ﬁ!@ﬁd@o{ g
TTWOIITYT), BT mé%mmmﬁd.

4. Blank pages of the question booklet may be used for rough work.
TIFDATOD 959D TDNTIY, GISE) 30%g /rough work i VTCIRENTWTO.

AR AR E0w FCRTE P.T.O.
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5.

10.

11.

Each question is provided with four choices (A), (B), (C) and (D) having one correct
answer. Choose the correct answer and darken the bubble corresponding to the
question number using Ball pen in the OMR answer sheet.

BITIR Toey ORI, wBNINT (4), (B), (C) D) (D), ©PYNTY 20w BOWT
YOZTHI, BROVT. FOIIT WITHI, B0 B OMR T BFODY o F® W,
WP TP, FOABNR OFMETIN WS BT, BoW.

Correct Method Wrong Methods /3% 3zonsd

BT | XBOD O®O® 0000
DOOD | |®|B®OD ®O@OD

Each correct answer carries 1 mark and no negative mark for wrong answer.
ROOIPT YVTTH) 2,000 WOTVIY, BLODTOTT W) IIW) YWITF 9NFOZF WOINPY.

No candidate will be allowed to leave the examination hall till the end of the

session without handing over, his/her answer sheet to the invigilator. Candidate
also has to ensure all the particulars/columns in his/her OMR is filled correctly

before handing over the OMR sheet to invigilator.

ﬁ@@i TONT JOST @%ﬁogﬁﬁ&ol 3plole] d)@@%&@d%@ﬁ QT3 B ﬁ@ei BTDOD TONOTIBH
308R0N0T STWR TONY. 3RTR 536@%&336667? ggmgswmcl QeI mﬁ% 3?}3@ OMR
TEBoDY @555653635 DY méog%ofbm&‘ ROOIN ITROAQED DOTD @%3@@%%@@%@5&.

Strict compliance of instructions is essential. Any Malpractice or attempt to commit
any kind of Malpractice in the examination will result in the disqualification of
the candidate.

3RTR epTFT BRUWINTDI, TN WIFTFW), VDY WoIT WPHFNTI,
O[T/ NRPESTONMTYT.

Use of Simple/non-Programmable calculators are allowed.

RTY TOGETT VW), WFRWTIW.

In case of any discrepancy between English and Kannada versions, the English

version will be taken as final.
QONET W) TIR® SBVENT (TFNRY) IBF deeycse BIVANST D, QONET &3 30D,
08TwoN TONTRTYTD.

English Section questions from Q. No : 46 to Q. No : 50 are in English Only. The
rest questions are in bilingual form (English + Kannada).

QONET VRN TIINRWD T, O : 46 00T T, O : 50 AT, SORVPFINTY FeFVLITLHTH.
ARIT TINER, QR (VONEGT + IIWRY) FeTOLS.



Answer the following questions.
FPNT @%ﬁ@ﬁ YOBOR.
Directions (1-6) : What comes next in the series ?

AersRA: (1-6) : 55 FHTY IN0T VI WHIF ?

1. 64,32,16,8, 2
(A) O (B) 1

(€) 2 (D) 4

2. 3,8,15, 24, 2,48, 63.

(A) 15 (B) 18

(C) 63 (D) 35

3. 5,5,15,75, 525, 4725, 2,

(A) 51795 (B) 50135

(C) 51025 (D) 51975

4. E-5,G-7,1-9, K-11, ? , ? ,

(A) M-15, P-21 (B) M-13, O-15

(C) O-15, X-24 (D) N-18, K-14

5. FAG, GAF, HAL, IAH,  ?
(A) JAK (B) HAL

(C) HAK (D) JAI

21S4ES (21BCOMS5S4A)
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6. ? , ? aab ? a ? a ? ba
(A) bbaab (B) ababa
(C) bbabb (D) aaaba

7. Find which of the following are twin primes ?
FINTZYNYY SRR 9T LIV QROT FOTILROWD.

(A) (37, 41) (B) (8, 7)

(C) 43, 47) (D) (71, 73)

8. The sum of first 50 natural numbers is equal to

BRTO 50 é@ﬁ?% ﬁoaﬁéﬁ@é BRH)
(A) 1275

(C) 1235

9. Find the HCF of 40 and 60.

40 B 60 B HCF o), 30m@5a000.

(A) 40 (B)

(C) 15 (D)
10. Divide 91 in the ratio 2 : 5.

91 8Ty, 2:5 VNTITY NA.

(A) (26, 65) (B)

(C) (21, 70) (D)

R ABRITONHIS.
1025

1205

20

10

(29, 62)

(31, 60)
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Directions (11-15) : The pie-chart drawn below shows the spendings of a country on various
sports during a particular year. Study the pie-chart carefully and answer the questions
given below it.
PERCENT OF MONEY SPENT ON
VARIOUS SPORTS FOR ONE YEAR
5605 | Golf
V07 | 12.5%

Others
10%
Basketball
12.5%
Cricket Football
15%
25% °
Hockey

15%

QXer3INED (11-15) @ 33 R 20T IOFF BRETY DT $eBNG e Te3T DWFNTRY dé%ﬁoﬁa@)
WIAOINT. VTR, HBOFTWOT WP ONT [PR I RNV TINTI, Y0B0A.

2,00 IRETY ARG FRENE e
WDF B[RRT BET 3B

P
&L | mer
ol o
o33 A 12.5%
10% TR
3D
12.5%
-
si TR
5% 15%
(0]
0%
15%

11. If the total amount spent on sports during the year was ¥ 1,50,00,000, the amount

spent on cricket and hockey together was.

2000 VRVETY 3eTBMoN WDF TRT 2E3) mg % 1,50,00,000 e:mz%zﬁ 35 B o8N
DR BRRT mg DTN, 2

(A) 25,00,000 (B) 37,50,000
(C) 50,00,000 (D) 60,00,000

AR AR E0w FCRTE P.T.O.
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12. Out the following, the country spent the same amount on :
(A) Hockey and Tennis (B) Golf and Football

(C) Cricket and Football (D) Football and Hockey
FENIDNGY TeTy DWF TRRT w0TE BT B[BRT
(A) T8 B éﬁa‘ﬁ@ (B) TTOUS; 3B abwg@“

(C) 337 S Formes (D) ot T o

13. Pie-chart shows that the most popular game of the country is (on the basis of
money spent)

(A) Cricket (B) Football (C) Basketball (D) Hockey

ﬁé-sg Te3T 030w =8 ézﬁgﬁ BVROPTONT DO SRCOMWTT ? (DWNF B[PRT TeaTS
S000 w0edd)

(A) e (B) mésg@e (C) mz)zw aplod (D) =03

14. The ratio of the total amount spent on football to that spent on hockey is :
oﬁmg@@ SWIeH] To8N DWE RBT 2E3) dfagcs ONTOZ DJNT 9

(A) 1:15 (B) 1:1 (C) 15:1 (D) 3:20

15. If the total amount spent on sports during the year was ¥ 1,20,00,000 how much
was spent on basketball ?

WO [R/ETY FeBMoN DDE TRT e mg % 1,20,00,000 e:mzjod miéés%@fﬁ DT
DWFE mcémﬁdagd 9

(A) 9,50,000 (B) 10,00,000 (C) 12,00,000 (D) 15,00,000

16. (10, 25, 30, 45, 50), what is average ?
(10, 25, 30, 45, 50) 3ToFO OV ?

(A) 30 (B) 31 (C) 32 (D) 33



17.

18.

19.

20.

21.
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A number is increased by 10% and then it is decreased by 10%. Find the net
increase or decrease percent.

(A) 1% increase (B) 1% decrease (C) 0% (D) 2% increase

20T sogjéodaaﬁa& 10% éaimmmgd 073333 3080 e:ats:nol 10% dﬁgj %@dsﬂm@xmmgd.
SV ézg;@; OF AP JeTWOBIY, TORLROWO.

(A) 1% B9 (B) 1% 93 (C) 0% (D) 2% B

The average age of 30 boys of a class is equal to 14 years, when the age of the
class teacher is included the average becomes 15 years. Find the age of the
class teacher ?

2,000 30NR80N 30 DVBNT RTOIO 503333} 14 SJeEnon smsmﬁmgd. clofatt ég%d
5033:5534 Red1TON ITRO 15 wa;mmgd. aone é?ﬁd soﬁam BOWILBCWD.

(A) 50 (B) 44 (C) 45 (D) 42

In an examination, 30% of the total students failed in Hindi, 45% failed in English
and 20% failed in both the subjects. Find the percentage of those who passed in
both subjects.

2.,0TD TOCFONY, et DTRHFNY Tt Je. 30% TXY, LTHFNH LONODY BEeeor THNTHT,
45% 0N T DY wIeeorTONTT 0B 20% DTBEH DTODNTY ©TIee0F TINTIVT. DTBR
DTOPNTY w0 eear ToBmT 3esm0 DD, ?

(A) 35.7% (B) 35% (C) 40% (D) 45%

In a partnership investment of X and Y are 3200 and 3600 respectively total profit
is 3400 then ratio of profit share of Y ?

XY S T0e0modd pRdodY :deen 3200 08) 3600 SNT. wid) w3y 3400 SNTT
Y3 oot ol 90038 9

(A) 900 (B) 800 (C) 1600 (D) 1800

In an examination, 120 questions were asked. As there was negative marking,
Rakesh decided not to attempt 15 questions. Each question carries 2 marks.
80% of his answers were correct. For a wrong answer 1 mark is deducted. How
many marks were obtained by Rakesh in the examination ?

2,00 BOeFoDY 120 BFRTY, Fedwpny, Inedss” SO VT FoSee Toded” 15 TJ NG,
SUBOROTLD AFFOLTH. T THOW 2 WOIRY, BRODHIT. BT 80% SUITNL FOOTON.
3% 1 wos 6@3&@@5@713%53. eSRIARIwe) aaeiofoeg ooBe® DT, eﬂoinsﬁﬁ@émo1 wcsacr%ﬁ 9

(A) 40 (B) 147 (C) 152 (D) 168

AR AR E0w FCRTE P.T.O.
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22.

23.

24.

25.

26.

In a partnership profit ratio of A and B are in the ratio of 6 : 5 for the period 1 year
then the investment ratio of A and B is :

TRENTOOION TP OTITY Am@g B 13X @=0n 6:5T @@m@‘cﬁ@)&éﬁ.
ToME8 A B, BNY SRRI0D 9pTmeg D0 9

(A) 5:6 (B) 2:3 (C) 6:5 (D) 3:2

A and B together can do a piece of work in 6 days and A alone can do it in 9 days.
In how many days can B alone do it ?

20T %@ﬁd@c& A B B 920w B3¢0 6 OINYY FPeFNRYART. ToMe Am&ﬁe Te
3ORTI, 9 OINYQY TPFRRIRTIZ. Tomwd B eyl ox) OINYY © oz
TRFRRPTTVE 9

(A) 18 (B) 16 (C) 12 (D) 20

The average age of a family of five members is 24. If the present age of the
youngest member is 8 year, what was the average of the family at the time of
birth of youngest member ?

5 ATHT DLO0WT ATIAD HODEY 24. $00H ITAI TAT B[ODEY 8 SJREDNTT, SO0
V)

3
ATAS RITT AWONTY BEDOWT FTORO BWODNEY &Y, ?

e

(A) 16 (B) 20 (C) 28 (D) 30

A cycle was purchased for ¥ 1,600 and sold for ¥ 1,400. Find the loss %.

20T ﬁeﬁ@@m% 4 1,6002’% 00D & Tonw 1,400@ BROTT, SHB 3T AT, ?

2 1 1 1
(A) 122% (B) 12-% (€ 122% (D) 125%

By selling 8 articles, a tradesman makes a loss equal to the cost price of 4
articles. Find loss %.

8533071@;3)& WIVTES DIV WROT, 2.0 mémaofm 45#&7?@5 B3R INTT sawwmel
ORPARTE. IR 3T DT, ?

(A) 25% (B) 100/3% (C) 50% (D) 40%



27.

28.

29.

30.

31.

32.
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Z take ¥ 50,000 loan from bank for 6 months at 10% interest rate find amount to
be repaid ?

Zaﬁaol 10% w%dddcg 6 SONTITN méoéésod ¥ 50,000 To® TRT. ToMmBT wNTVTTRS
WIOWLCFTOT mg @&& 2

(A) 52,500 (B) 55,200 (C) 2,500 (D) 5,000

A man borrowed some money from bank at interest rate of 8% for 2 year. He pays
simple interest ¥ 4,000 find principle ?

2.2 BB 2 THREY 8% WRBTTY ROEIOT AL TEOBW), O JIRIW. OBI ATY WG
T 4000 5%@& TOMOTT R mg DT, ?
(A) 25,000 (B) 20,000 (C) 30,000 (D) 16,000

In how many years, the sum of ¥ 10,000 will become I 10920.25 if the rate of
compound interest is 4.5% per annum ?

RT) TRFNTY, WBWROD WIY =& 4.5% NPT X 10,000 B0y X 10920.25 SO,
(A) 3 (B) 2 (C) 4 (D) 1

In a certain code language, the word PARTNER’ is coded as ‘TRAPREN’, how will
‘FOUNDER’ be coded in the same language.

2,000 R0o%eg R0NY PARTNER’ @5301 ‘TRAPREN’, Q0T 3003 R0BUNG. Tomois
‘FOUNDER’ @m& Ten BT [RBOMT)T ?

(A) NUOFDER  (B) NUOFRED (C) FOUNRED (D) OFNUEDR

If EAT is 26, ZEAL is 44 and AROMA is 48. Then how is ‘HELMET’ written in the
same language ?

EAT 6:9530l 26, ZEAL @5301 44 KD?& AROMA @5301 48 0T WITT, LaT3e mdoﬁn@ ‘HELMET’
e:v?nol Teny WTONNO 2

(A) 23 (B) 63 (C) 83 (D) 53

If wall is called window, window is called door, door is called floor, floor is called
roof and roof is called ventilator, what will a person stand on ?

(A) door (B) ventilator (C) roof (D) floor

rﬁ,@dojaa’saol 3833, z%@su%odaa’saol RN, PNOI, TR, ma@osasa& MR e;oﬁséoﬁamol
Sowderst” Qo TITT, W) BB DY ILNTYS ?

(A) oA (B) sSoes3eesct (C) eoRed (D) =HER

AR AR E0w FCRTE P.T.O.
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Directions for questions from 33 to 35 :

Study the data given below and answer the following questions.

‘Royal Monarch Regal’ is written as @ # *
‘Regal Legacy Gold’ is written as * % ?
‘Hope Gold Life’ is written as % & $

‘Regal Monarch Morals’ is written as # * V

33 00T 35T IBNS @é&ﬁ@?ﬁ QTEEBINED =

BN JeBORT FetTZ, WPONT [RA FENT JINAIR YLI0A.
‘Royal Monarch Regal’ @=), @ # * Q0T WI0HGONT

‘Regal Legacy Gold’ @@, * % ? 0w w3oDSONT

‘Hope Gold Life’ =, % & $ 20w w30deoNs

‘Regal Monarch Morals’ ©=, # * V 20T B0HCONT

33. What will be code for Regal ?
Regal 3 3pe@ QTONTOIT ?

(A) % B) * (C) $

34. What will be the code for “Gold Legacy” ?
“Gold Legacy” 8 3pew DZONTET ?

(A) # & (B) % # (C) ? %

35. Which word is coded as # ?
03303 mwm@l # DO BRCT WIRTEONT 9

(A) Moral (B) Life (C) Regal

(D)

(D)

AV

Monarch



36.

37.

38.

39.

40.
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In a class consisting of 50 students A ranked 12t from the top and his friend B
ranked 26™ from the bottom. How many students ranked between A and B ?

50 DRFAYR, LIRRORE BTRGONY A 0cI0T 12 Fe FeodPodR, W) ¥I
B8 B 3¥N0T 26 e m@ms{{ BRATL. A B, B IWH ), DTRHFNAWD m@s
wdécr%d 2

(A) 13 (B) 12 (C) 25 (D) 38

Raju goes to school by bus, the bus goes straight 5 km then turns left and moves
8 km at last it takes right turn and moves 2 km to reach school. Distance
between school and Raju’s home is :

(A) 15km (B) 8.5km (C) 12 km (D) 7 km

S0t WATY JoR memmﬁ AL SeTzN 5 d.80e. mem:id 3033 ebdé 3TN 8 .80e.
BODWIT. O WOF ST I, ToSoHD), ILOTE) 2 8.0¢. BORWIZ. TwEY o
) THRIDNT DFOD IWNT BOBT DT, 7

(A) 15 .0¢. (B) 8.5 3.0¢. (C) 12 .0¢. (D) 7 $.50¢.

Simplify : 7-2+13-5-2+2

BOPRRPY ¢ 7—2+13-5-2+2

(A) 12 (B) 13 (C) 14 (D) 15

Smoke : Pollution : : War : ?

(A) Victory (B) Peace (C) Treaty (D) Destruction
Taste : Tongue : : Walk : ?

(A) Pavement (B) Crutch (C) Legs (D) Walking

P.T.O.
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41. A and B are married couple. X and Y are brothers. X is the brother of A. How is
Y related B ?

(A) Brother-in-law (B) Brother
(C) Son-in-law (D) Cousin

A?nég B Q530%3 TOTENRD. Xﬁaé& Y 3B00T3T. Xo‘saol AT ADBHCTT. ToMRTBT Yoﬁasi
B et oWoRRT 2

(A) Bress = (B) Ra3nedd

(C) ©9od (D) RRewd ToWOH

42. 4 kg of rice at ¥ 5 per kg is mixed with 8 kg of rice at ¥ 6 per kg. Find average
price of mixture ?

(A) 5/kg (B) 6/kg (C) 5.66/kg (D) 6.66/kg

4823 ©8 50n. Y LBSoDI, 83.28. @ 6 Tw. NF B3S B NI IPEINT. MBI
0BT BoORO B3 DI 9

(A) 538 3.2 (B) 638 3.22. (C) 5668 323 (D) 6.66 T8 3.22.

43. Which of the following diagrams indicates the best relation between Author, Lawyer
and Singer ?

BENT 0300z 83y Seads, Wdew BB MPONT IWND sowoasm‘% nraa%ﬂagd 9

O O
(A) Q (B)
O

(C) (D) :
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44. Study the problem figures marked as A, B, C and D carefully and try to establish
the relationship between them. Select the best option.

A, B, C @) D 2000 mHTART AeF, BINTI, D2B0F0N0T ©FODT BRA 0B 9PN
ST FOWOTTR, LA FODER. FORBRT $¥0IT SOA.
Problem Figures

sl "l]ad] "1

(A) (B) (€) (D)

Answer figures

YVBT WINE

2 )| %) ad| ¥

—

(A) (B) ©) (D)

45. Problem Figures :

M AVALVS

(A) (B) ©€) (D)

Answer figures :

SINCISRATTARN

Z F
X

(A) (B) (C) (D)

AR AR E0wCRETE P.T.O.
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46.

47.

48.

49.

50.

Fill in the blanks with the suitable preposition :
He travelled all the world when he was 80 year old.

(A) in (B) over (C) with (D)

Select the INCORRECTLY spelt word.

(A) Cemetery (B) Accommodate (C) Intruder (D)

Select the most appropriate synonym of the given word.
Competent

(A) Complex (B) Poor (C) Capable (D)

Select the correct passive form of the given sentence.
Manu will tell her later.

(A) She will be tell later by Manu.

(B) She will tell later by Manu.

(C) She will be told later by Manu.

(D) She will be tell later.

Select the most appropriate Antonym of the given word.

Beautiful
(A) Handsome (B) Ugly
(C) Graceful (D) Marvelous

-00o0-

of

Necessary

Beginner
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SPACE FOR ROUGH WORK



